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Period____
Study Guide Part 1: Comparing Numbers and Integer Operations

IXL Topics for all objectives on the Mid Year Assessment: B.2, D.4, F.5, F.8, H.4, All U topics, All V topics, L.6 , L.7, and K.2 – K.8

Midterms will be next Thursday and Friday.
	Write each fraction as a decimal, and decide if it is a repeating or terminating decimal. 

a. [image: image39.png]A scuba diver dives 80 feet below the
surface. After a while, the diver rises
3 feet per minute. Which integer
describes the position of the diver in
relation to the surface of the water

8 minutes after beginning to rise?

A —56
B —66
c -72
D -88




b. [image: image2.png]



c. Explain how you know whether a decimal is repeating or terminating. Can it be both?



	Replace the · with an inequality symbol or equals sign:
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	Put the following numbers in order from least to greatest:
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	The table shows the average height of four types of flowers.

Flower

Height (feet)

Daisy

[image: image10.png]



Tulip

0.8[image: image11.png]



Daffodil

0.79

Geranium

[image: image12.png]



a. Which flower is the shortest?

b. Which flower is the tallest?

c. List the flowers by name in order from shortest to tallest.
	Compare the following fractions and decimals using <, >, or =.
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SPI 2.2 Compare rational numbers using appropriate inequality symbols. 
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	[image: image30.png]Which inequality is true?
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	[image: image32.png]Which value of p does not make this
inequality true?
1.9>p>0875
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	Which value of [image: image19.png]


 does not make this inequality true? 

0.56 [image: image21.png]


 0.975

A. 
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	What value of n makes this inequality true?
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A. 0.69

B. 0.71

C. 0.72

D. 073



	Which value of b makes this inequality true?
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A.   0.59

B.   0. 64

C.   0.6

D.   0.63


	Which value of n makes this inequality true?
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A. 0.20

B. 0.21

C. 0.24

D. 0.32


	[image: image33.png]Select the symbols to complete this
inequality.
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SPI 2.5 Solve contextual problems that involve operations with integers.
	[image: image34.png]The record high temperature in
Georgia is 112°F and the record low is
—17°F. What s the difference between
the highest and lowest recorded
temperatures?

A -1T°F

B 95°F

C 112°F

D 129°F



 

	[image: image35.png]On one winter day, the temperature

in Augusta fell 3 degrees each hour
for 4 hours. Which represents the

temperature change during the d-hour
period?

A -1

B -7
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D1





	[image: image36.png]Debt is represented as a negative
number. Keisha borrowed $7,000 from
her parents to help pay for college
expenses. Keisha pays her parents
back $200 each month. Which integer
describes how much money Keisha
owes her parents after 11 months?

F —12,600
G -4,800
H -8,200
3 =7,600





	[image: image37.png]When the temperature drops below
32 degrees for more than five hours,
citrus crops could be in danger. For
this reason, farmers take precautions
when the temperature drops to

32 degrees. The temperature at
9:00 p.u. is 36 degrees and dropping
2 degrees per hour. By what time do
farmers need to take precautionary
measures to protect their crops?

A 900pm. € 11:00 .
B 10:00pM. D 1200am
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	A fish is located 5 feet below sea level. It is descending at a rate of 3 feet per second. What integer best describes the location of the fish after 4 seconds?

A. -17

B. 7

C. 12

D. -12           
	[image: image38.png]The record low temperatures for
several states are shown in the table.
What is the difference between the
record low temperature for Alaska and
the record low temperature for
Tennessee?

Alaska —80°F
Florida —2°F
Ohio —39°F
Tennessee —32°F
A -58°F C —48°F





	

	Chan played a game with some friends. He started the game with a score of 0 points. On each of his first 4 turns, Chan won 10 points. On his fifth turn, Chan lost 100 points. Which integer best represents Chan’s score after his fifth turn? 

A.   -100

B.  60

C. -60

D.  40
	A bird is descending at a rate of 10 feet every 30 seconds. At this rate, which is closest to the number of feet the bird will descend in 3 minutes?

A.   60 feet

B.   30 feet

C.   90 feet

D.  300 feet



Sue bought 4 rings for her mom. Each ring cost the same amount of money. The total cost was $31. 

What is the cost, in dollars, for 1 ring? 

Show All Work
It takes 1 ticket to ride the Ferris wheel at an amusement park. The amusement park earns $144 for each Ferris wheel ride if the cars are full. The Ferris wheel seats 48 people. 
Write an equation that can be used to determine the cost (c) for 1 ticket. 
A sixth grade class is going on a field trip to see a play.  For the 27 students to go on the field trip, the van rentals will cost $545, gas will cost $130, and admission to the play will cost $945.  Each student has been paying $4 every week to pay for the trip. The class has already collected $864 for the trip. 
How many MORE weeks does each student have to pay $4 per week to have enough money to pay for the entire trip? 
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